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Note : 	(i) 	All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 

600 words. 

What is the importance of integrated learning 

approach at primary level ? Discuss the different 

types of integrated learning. 

OR 
Problem solving can be used as a strategy for 

indirect teaching in a large group of learners. 

Discuss. 

2. Answer the following question in about 

600 words. 

What is interactive instruction ? Discuss the 

different interactive instruction strategies that can 

be used for small group learning. 

OR 
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Differentiate between story telling and narration 

as strategies for teaching. How will you use story 

telling for teaching a large group of learners ? 

	

3. 	Answer any four of the following questions in 

about 150 words each : 

(a) Explain enquiry training as a model of 

teaching. 

(b) Discuss concept attainment model as a 

strategy for indirect instruction. 

(c) Give two examples where you used field 

observation as a strategy for teaching. 

Why ? 

(d) Explain Constructivists approach to 

learning. 

(e) Games can be used as an instructional 

strategy for large as well as small group 

situation. Give examples for each. 

(f) How can you use assignments for 

developing multiple intelligences in your 

students ? 

	

4. 	Answer the following question in about 

600 words. 

What are the different steps for planning 

integrated learning experiences ? Using these 

steps, plan integrated learning experiences for 

your students. 
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